MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION

11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (N OA) www.miamidade.gov/economy
Haas Door Company
320 Sycamore Street

Wauseon, OH 43567

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted hasbeen reviewed and accepted by Miami-Dade County RER-Product Control
Section to be used in Miami-Dade County and otherareas, where allowed by the Authority Having Jurisdiction (AHJ).
This NOA shall not be valid afterthe expiration date stated below. The Miami-Dade County Product Control Section (In
Miami-Dade County) and/orthe AHJ (in areas otherthan Miami-Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturerwill incur the expense of such testing and the AHJ may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance if it is determined by
Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.

This product is approved as described herein and has been designed to comply with the Florida Building Code, including
the High Velocity Hurricane Zone.

DESCRIPTION:

Series HT 600, 700, 800 & 2000 Insulated Steel Sectional Garage Door up to 18ft.-2in. Wide
APPROVAL DOCUMENT: Drawing No. WL-0600-0218-08-45-50M-D, titled “18°-2” HT 600, 700,
2000 & 800 Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated 01/08/2015, with
revision C dated 10/12/2020, prepared by Haas Door Company, signed and sealed by John E. Scates, P.E.,
bearing the Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and
expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

L ABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation
instruction drawing reference number, approval number (NOA), the applicable test standards, and the
statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s sidetrack,
bottom angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/ or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be donein its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews and revises NOA #17-1023.14 and consists of this page 1 and evidence pages E-1, E-2
and E-3, as well as approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

% NOA-No. 20-1104.10

Expiration Date: February 11,2026
Approval Date: January 21, 2021
Page 1


http://www.miamidade.gov/economy
RCF045
CU


Haas Door Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

1. EVIDENCE SUBMITTED UNDERPREVIOUS NOA'’s

A. DRAWINGS “Submitted under NOA #17-0313.11”
1. Drawing No. WL-0600-0218-08-45-50M-D, titled “18°-2” HT 600, 700, 2000 & 800
Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated
01/08/2015, with revision A dated 01/20/2017, prepared by Haas Door Company,

signed and sealed by Thomas D. Sullivan, P.E.

B. TESTS “Submitted under NOA #15-1104.04”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Resistance Test, per TAS 202-94
along with marked-up drawings and installation diagram of 16’-2" wide x 8” height
HT 600 Series Sectional Steel Garage Doors, prepared by Intertek/ATI, Test Report
No. E1289.03-550-18, dated 12/22/2014, signed and sealed by Justin P. McDonald,
P.E.

2. Test report on Tensile Test per ASTM ES8, of steel sheets, prepared by Intertek/ATI,
Test Report No. E1289.11-106-18, dated 12/12/2014, signed and sealed by Gary T.
Hartman, P.E.

3. Test report on Salt Spray per ASTM B117 of coated metal steel panels, prepared by
Intertek/ATI, Test Report No. E1289.10-106-18, dated 11/24/2014, signed and sealed
by Gary T. Hartman, P.E.

C. CALCULATIONS “Submitted under NOA #15-1104.04”
1. Anchor calculations prepared by JB&B Engineering Consultants, LLC, dated
07/01/2015, signed and sealed by Thomas D. Sullivan, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

E. MATERIAL CERTIFICATIONS

1. Test report on Surface Burning Characteristics of the Rubitherm WP 19669
polyurethane foam insulation per ASTM E84, prepared by QAI Laboratories, Test
Reports No. RJ5251F-1 and RJ5251F-2, both dated 01/26/2017, signed and sealed by
V. Andrew Tan, P.E.

2. Test report on Ignition Temperature of Plastics of the Rubitherm WP 19669
polyurethane foam insulation per ASTM D1929, prepared by QAI Laboratories, Test
Report No. RJ5255F-1, dated 02/02/2017, signed and sealed by V. Andrew Tan, P.E.

i

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 20-1104.10

Expiration Date: February 11,2026
Approval Date: January 21, 2021


RCF045
CU


Haas Door Company

F.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

STATEMENTS “Submitted under NOA #17-0313.11”

1. Statement letter of code conformance to the 5" edition (2014) FBC issued by JB&B
Engineering Consultants, LLC, dated 02/27/2017, signed and sealed by Thomas D.
Sullivan, P.E.

2. Statement letter of no financial interest issued by JB&B Engineering Consultants,
LLC, dated 02/27/2017, signed and sealed by Thomas D. Sullivan, P.E.

2. EVIDENCE SUBMITTED UNDERPREVIOUS NOA-No. 17-1023.14

A.

DRAWINGS

1. Drawing No. WL-0600-0218-08-45-50M-D, titled “18’-2” HT 600, 700, 2000 & 800
Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated
01/08/2015, with revision B dated 10/25/2017, prepared by Haas Door Company,
signed and sealed by John E. Scates, P.E.

TESTS
1. None.

CALCULATIONS
1. Anchor calculations, dated 10/27/2017, prepared, signed and sealed by John E. Scates,
P.E.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS
1. None.

STATEMENTS

1. Statement letter of code conformance to 6t" Edition (2017) FBC, dated 10/27/2017,
prepared, signed and sealed by John E. Scates, P.E.

2. Statement letter of no financial interest, dated 10/27/2017, issued, signed and sealed
by John E. Scates, P.E.

i

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 20-1104.10

Expiration Date: February 11,2026
Approval Date: January 21, 2021


RCF045
CU


Haas Door Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

3. NEWEVIDENCE SUBMITTED

A.

DRAWINGS

1. Drawing No. WL-0600-0218-08-45-50M-D, titled “18°-2” HT 600, 700, 2000 & 800
Steel Series HVHZ Wind Load Sectional Door”, sheets 1 through 3 of 3, dated
01/08/2015, with revision C dated 10/12/2020, prepared by Haas Door Company,
signed and sealed by John E. Scates, P.E.

TESTS
1. None.

CALCULATIONS
1. None.

QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER).

MATERIAL CERTIFICATIONS
1. None.

STATEMENTS

1. Statement letter of code conformance to 7t Edition (2020) FBC, dated 10/20/2020,
prepared, signed and sealed by John E. Scates, P.E.

2. Statement letter of no financial interest, dated 10/20/2020, issued, signed and sealed
by John E. Scates, P.E.

iz

Carlos M. Utrera, P.E.

Product Control Examiner
NOA-No. 20-1104.10

Expiration Date: February 11,2026
Approval Date: January 21, 2021


RCF045
CU


1 2 3 4 i 5 6 7 8
REVISIONS
REV. |7ONE| BY BESCRIPTIDN DATE
Al Sheet 2 Added “NOTE; The flat....mount”
E Sheet 2 Added "3" Nominol...on Allernote.”
E6& Sheet 2 Added 3 Alternate Bottom Brackets
et Maximum Dcor Width 18'-2" = NOTE:  Trock — . A fptiz| VS fro pethe ¢ ; . N
- | N N N rac con |gur0 1oNn above .—E:’)_ Sheet 3 Added "WOOD JAMB ATTACHEMENT”
™M Top Bracket End & 'St?[”rl]?_d('a;(we S{[léesf(;ackers) ™T the door opening does nat affect r B2 Sheet 3 Changed FR Polyurethane Foam
elal shee &) i i ee onged some values in. the
DETAIL A (sheet 2 of 3) B o or cionty _;A the wind load rcltmg of the door. o 2oty et 2 Chongea some ! the WOOD |0
g Aftached with 3 mm TOG-L-LOC at 2 places. [ T " g
| / /wm \p t ; |2 Wl el S ey ' Jorire
i - —— - = - B T 1 ||| DOUBLE STEEL END STILE
TR ] ] ' ’ i ) 16 Ga Galvanized Steel
Nzl / [ /1R Detail M (sheet 2 of 3)
_ =l =0 =l == = = = ==Y |
i / A Flag Bracket
& ﬂ {_} | Detail H (sheet 2 of 3) el
. 7] an T T F—TF n e = i
LI e =
. Lo 1
i A || == Sl =8 2 BE=8 = 0 ME * C
- 0" Shown | i) iy .; Iy 543" +/- 3" | 781" +/- 3" Jamb Bracket ]
See chart i & 9 t5 s Detail F (sheet 2 of 3)
below for other N w - o ‘ i -
door heights , . % i
= 1] ] ] BE=W W= i E = 06" /-9
llzzom o
— — N - — — — N — N T 10 381" +/- 3"
a : Iy i ’
& |lhe 3foe . (o fe 1
N i , gl A & _ ) : o WT, A
o 1 o 1 o 1 1 D o T e <o I ia i
== =N o] =0 B==N == [F [k Tl I\B oo PRODUCT REVISED
a : | \ | ‘ L as complying with the Florida
O T S BT X m m e T o e st Bu“ding Code
: =1 L = V ‘ L e L - » /f\j“ ‘ ﬁNs ‘ NOA-No. 20-1104.10 | _|
| | _! Ik T *% ; V\‘ L | i % ? Expiration Date 02/11/2026
- \ k ‘ ide Lock Shown Detall B Kéé%
Bottom Bracket End Hinge Strut & Strut Attachment Intermediate Hinge A - Stids Lock Sh@wrkgegﬁgfﬁﬁ af y__
Detail C (sheet 2 of 3) Detail B (sheet 2 of 3) Detail E (sheet 2 of 3) Detail D (sheet 2 of 3) A"y Lock Bars Detait J (sheet 20f 3 Miaml-Dade Product Control
103" +- 3" —
N o o Sy c
This product has been tested per TAS202-94 for static air pressure. Jammb bracketl quantities shown ore for wuse with grade 2 or belter southemm pine \\\\‘% E. S¢ //// ,
jambs, W . A4 /,
; N AP,
This product has been tested per TAS201/203-94 for large missile impact and cyclic wind pressure. Supporting structural element designs ore to be the responsibility of the professiondl Q\ )0."\\GENSE‘§‘9 ///
of record for the building or siructure for the locds listed on this drowing. =~ < Y =
Model Number _—e = ¢ Ne.s173r v =
HT _10 &2_10 SERIES Door !\Egtﬂf Total No. Strud é?iimég = o7 VL=
L1082 | Height | o, Configuration | e | 4 =% * = ]
HT 70 & 2_70 SERIES|HT 12 &2_12 SERIES 9 | Sections | Of Struis (Configuralion | giqe | noOTICE: ) =% H ; =
HT 80 &2_80 SERIES|HT _60 &2_60 SERIES|HT _71 &2_71 SERIES|HT _14 & 2_14 SERIES 5-0" 3 5 5 These drawings are o supy :’% - STATEOF s 4r =
HT 81 &2 81 SERIES|HT _61 &2_61 SERIES|HT _72 & 2_72 SERIES|HT _16 & 2_16 SERIES F 4 8 5 to the insigligtion mstn i <o, s & \'\T
HT 82 &2 82 SERIES|HT _63 &2_63 SERIES|HT_73 &2_73 SERIES|HT _32 &2_32 SERIES — o stendard door and only covers <, ‘%\FLOR\Q?"@?\\
HT 90 &2_90 SERIES | HT 64 & 2_64 SERIES |HT _74 & 2_74 SERIES|HT _33 & 2_ 33 SERIES 6-3 4 8 5 those procedures that vory from ”/NS ~""°"€53 ~S‘
. 56 4 6 5 standerd door installetion, I 74, > 1ONAL \\\
Door Width Design Pressures| End ' Center' Center Center Center [mpact — these specific procedures are not 1,,“””“\\ B
+ psf -psf |Backers| Stiles Hinges Stiles Hinges Stiles Hinges Stiles Hinges [Resistant 6-9 4 6 SEE 6 followed, the door may not '
163" thu 18:2?| 45.0 | -50.0 |Double| 7 3 7 3 7 3 7 3 YES -0 4 6 6 perform as designed.
: . SHEET m JI
75" 6 8 Lol roa, &= fu : John E Scates, P.E.
76" 4 6 SOF3 7 gﬁ“&w% GO 9360 King Arthur Bive. Ste 124-54
— RN N Lewisville, Texos 75056
: -8 5 8 ! “f%x@ { [V Florida P.E. # 51737
This product is available in narrower sizes with the same PSF and constructed as shown. 7-9" 4 6 7 -
This product is designed and sold by PSF. The AHJ or Engineer of Record is responsible for determining the -9 5 8 7 IMPACT  |This product hos been evaluated for use in
PSF required for any given site. 8'-0" 4 6 7 RESISTANT |the High Velocity Hurricane Zone (HVHZ).
8-0 5 8 ! 182" HT 600, 700, 2000 & 800 STEEL SERIES
Maximum section height is 24 in. HVHZ WIND LOAD SECTIONAL DOOR
Maximum door height is 16 ft. 2 DESIGN PRESSURE +45.0/-50.0 PSF A
All doors, even those above the tested height, are available 320 Sycamore | DRAWING NO.: WL-0600-0218-08-45-50M-D |REV. C
with jamb brackets or commercial full angle, The quantity n. Ohi 7 - - . -
and dimensional location of the jamb brackets/track clips WaUZ?g-és(;ljé(}gO%GSG DATE DRN: 17815 IURAWNBY' MVS!““‘ DATE: 10122020
and the jamb mounting shown above should be maintained, ©Cony 20T MODEL(S): See Sheet 3 |s&sn: 10F3
1 2 3 4 f 5 6 | 7 8



RCF045
New 20-1104.10 Stamp


1 2 | 3 4 i 5 6 | 7 8

REVISIONS
TEK SCREW REV. | 2DNE| BY DESCRIPTIDN DATE
— = DY ” 1/4" X 3/4“ Hex Washer Head Self Drilling Al Sheet 2 Added "NOTE: The flat,..,mount”
4 (3 per Bottom Bracket & 2 per Low TEK SCREW .Xi_ Sheet 2 Added “3" Nominol...on Alternate.”
ADJUSTABLE TOP FIXTURE END HINGE Headroom Top Bracket) 1/4" X 3/4" Hex Washer Heod A e [y |Sheet 2 Added 3 Aternate Botiom Brockets |, /.|
12 Ga 14 Ga Galvanized Steel BOTTOM BRACKET Self Drilling (3 per Bottom & 2 per D2 [fo DETAL C. F
. 4 Adjustable Inner Battom Brackets) E3 Sheet 3 Added "WOOD JAME ATTACHEMENT"
LA PUSH NUT 7/16" e 13 Ga Galvanized Steel
E D I % T Seo DETAIL K for push TEK"SCREW . p — BOTTOM BRACKET B2 Sheet 3 Changed FR Polyurethane Foam
T s nut mt :—éz-d éeﬁ/gﬁ“t‘nex (\ZOSZC;F @ %A LOW HEADROOM TOP BRACKET i 13 Ga Galvanized Steel g ?Z?JE& VS f:aeat iﬁig:r}l{%eﬁ-r s:chrgi values in the WOOD o/25/1%
, i _ Hinge) o P ADJUSTABLE INNER Chonged the ralfer hub distonce fram 1/4"
TEK SCREW P PUSH NUT 7/16" BOTTOM BRACKET C | C2 |MVS|o 1/2" in DETAL K on sheet 2 of 3. 0/12/29
o e cals) 1/4” X 3/4" Hex Washer PUSH NUT 7/16" ﬁ o= See DETAIL K for push nut ! PUSH NUT 7/16" |
Head Self Driling (4 per See DETAIL K for push placement J Slee DETAt|L K for push nut
Bracket) nut placement placement.
BOTTOM SEAL BOTTOM SEAL
TEK SCREW TEK SCREW — 1/4" x 3/4" Hex Washer Head E
1/4" X 3/4” Hex TEK SCREW o 99" Self Driling (2 End & Intermediate St SLIDE LOCK (One On:Each:
Washer Head Self Drilling JN/4h X S/4d gel)F 4 eif Drilling (2 per En 5 1;;,”“65'?(; STlReLSJz /STde of The Door) or -
osher eq e X .
(5 per Battom & 2 per Deiling (14 J— INTERMEDIATE HINGE 18 Ga 70 KSI Minimum JAMB BRACKET - LOCK BARS (see DETAL.J)
Adjustable Inner Bottom riling per . 1 Y
° Bracket Bottom Brackets) A 18 or 14 Ga Galvonized Steel '—‘31" 12 Ga Galvanized
rackets) 7 o Galvanized Steel 2 Steel
[ BOTTOM BRACKET BOTTOM BRACKET ) ECL)L?FE lB_glgg or
. 12 Ga Galvanized Steel °. 3/16" Thick Powder Q TEK SCREW A o ° i ]
- " " Engages into the
o Cooted Steel I 1747 X 3/4% Hex E tical track
0 ADJUSTABLE INNER s Washer Head Self s vertical track on
o: o 0 BOTTOM BRACKET ' " ! . 8 : ¥ each side of the
- & Ly oo oo PUSH NUT 7/16" Drilling (4 per Hinge) Soor
[ Wa = n LK BOLT & NUT
PUSH NUT 7/16 “h lae See DETAIL K for 5 .
See DETAIL K for push : push nut plocement. NOTE: The location of . ¢ . § 1/4f20 X 5/8
nut placement. M SEA the intermediate hinges 3" x 3 1/4" BRIDGE PLATE Carriage Balt & TEK SCREW
BOTTOM SEAL BOTTOM SEAL is indicated by the 18 Ga 50 KSI MiNIMUM L/‘-L'(%O Hex Washer 1/4" X 3/4" Hex D
togale lock dimples at Galvanized Steel . ut per Jemb Washer Head Self
ALTERNATE #2 ALTERNATE #3 DETAILD %o o coeh wection. DETAILE  Attoched with 3 mm DETAILF  procket) DETAIL G priing (4 per Siide
TO DETAILC TODETAILC TORTLTLOE et & Fomers Lack)
s e e s oal 1 ) PRODUCT REVISED
| I PR as complying with the Florida
OUTSIDE ¢ L@ L *; Building Code .
HANDLE . : — 7" Min.—— NOA-No. 20-1104.10
18" Section — 17 2" a B ..
21" Section — 20 3" A ¢ ) Expiration Date 02/11/2026
» . fu = 24" Section — 23 3 * ¢ ROLLER
187 Section — 17 3" ;—p—pr N . B ) . By
217 Section — 20 §* 27 Diomeler Nominal Tem Belf Nylon w/Hardened Miami-Dade Product Control
24" Section — 23 4" ° ¢ Shaft or Ten Bofi Steel w/Hordemsd Shaft with
‘ : I:] a Minimum Workobfe Shefi Length Shown. C
LOCK BARS Engege r@—ﬁuwk
into the vertical
track on each side E e
of the doar ,__-_‘ 2~” Lﬂ-— LAG BRACKET
d 3n —
DETAIL J DETAIL L DETAILM
Alternate Lock Configuration A - y - BOLT X
TERIAL; 20 GA CS Stesl, ATERIAL: 16 GA CS Steel, ‘ » N ’ Ry SRR ) Bl o
G40 Min, Hot Dipped G40+ Min. Hot Dipped 5/16" X 1 5/8" Log Bolt O '-.fLOR\?r'\;@,;}
Galvanized Galvanized (4 per Flag Bracket) Ty e o
74, SSIONRY \\\\
DOUBLE STEEL END STILE NOTE:  Jamb Loads: DOUBLE STEEL END STILE ""!m”n\\ \ B
16 Ga Galvanized Steel +405.0 Ib ’/ft / —450.0 )’b /it 16 Go Galvanized Steel
Detail M (sheet 2 of 3) - IRs /T -v 1BS/TL Detail M (shest 2 of 3)
End & intermediote Stiles (Backers) BOLT & NUT
Min. Detail | (sheet 2 of 3) ___ Min. 1/4-20 x 5/8" Track Bolt John E Scates, P.E.
af 1” Attached with 3 mm TOG-L—LOC at 2 ploces. of 1" & 1/4-20 Hex Washer Nut 2560 King Arthur Blvd. Ste 124-54
(2 for Horizontal & 2 for Lewisville, Texas 75056
vertical Track) Florida P.E. # 51737 L
N e 2 2 3 o 3 :
Maximum IMPACT  |This product has been evaluated for use in
1/2" RESISTANT |the High Velocity Hurricane Zone (HVHZ).
BOLT & WASHER VERTICAL TRACK :
5/16" X 1 5/8" Lag Bolt & 2" 2™ Nominal 13 Ga Galvanized Steel .D_E_T.Al—l‘_ﬁ EEFA—”‘_I__' 182" HT 600, 700, 2000 & 800 STEEL SERIES
r(\D‘.D‘ x 7/16" 1.D. Flat Washer tested. WOOD JAMB There should bj a space NGTE Detail ) ‘e HVHZ WIND LOAD SECTIONAL DOOR
OTE: Jamb bracket must be in 3" Nominal 13 Ga is also approved Th tical d iamb fast of maximum 1/2" between : etails on some views omitte
direct contact with the 2x6 (No as an alternate. : vber oo V:oo JOLHt as erjgrs the roller hub and the . , i DESIGN PRESSURE +45.0/-50.0 PSF A
Srpmoll ollomad) ?l'mty e ctqun er sfun OSPFO\{I ebc outside edge of the roller for clarity. Double end stiles and 05 T 00T I8 035-500 ]HEV =
- ot mounting surface. See jam Sge . - - . -08-45- - A
NOTE: The flot washer is not attachrment Tetaie o e S tor holder which is set by the end hardware may be required on YCﬁf‘We WL-0600-0218-08-4 D
required for angle mount, attaching jombs to the struclure. push nut, wider or heavier doors WBUE?SH?;?% ;}%0463567 DATE DRN:  1/8/15 ‘DRAWN BY: MVSIREV. DATE: 1071272020
SECTION B-B ooopsrow . |MODEL(S):  See Sheet3 |SHEET: 2 OF 3

1 2 3 4 f 5 | 6 | 7 | 8


RCF045
New 20-1104.10 Stamp


SECTION A-A

4SECTIONS 5SECTIONS 6SECTIONS 7 SECTIONS
STRUT CONFIGURATION

HT _90 & 2_90 SERIES

320 ycamore ]
Wauseon, Ohio 43367 paTE DRN:  1/5/15 [DRAWN BY: MV'S |REV. DATE: 10/12/2020

419-337-9900

© Cooyig 2014

1 2 3 4 1 5 | 6 7 8
REVISIONS
1/ FASTENER TO CONTINUE e mA:E = lSh t 2 Added 2:2?;"?:: flat,...mount” =
15" THICK — HT 600 SERIES D’ PASTHEADER _A—\E— Shi:i 2 Add:d »3" N;m'mul u’r’\"AHernnte "
12 THICK — HT 700 SERIES o -
iy 24" THICK — HT 2000 SERIES - N A 051552 MVS ?:egtTilAd;ed 3 Aternote Bottom Brackets 1 /20/17 E
3" THICK — HT 800 SERIES %% %% T:B— Sheet 3 Added "WOOD JAMH ATTACHEMENT"
{ F { | _EZ_ Sheet 3 Chonged FR Polyurethone Foom
] ’ 2 X 6 GRADE 2 OR BETTER SOUTHERN ’ B BERMVS [ v e " YO orzs
PlNE JAMBS. ¢ | c2 iMvs Cohunges ‘:"he roller hu:n d;st::ce f;um 1/4" o/12/20
/SE; CHART FOR 2X8 WOOD JAMB ATTACHMENT lo 12 'n DEIALK on sheet 2 of 3
o TO BUILDING STRUCTURE. o —
(| A N
A STRUT Detail E WOOD JAMB ATTACHMENT
s | (sheet 2 of 3) .
= Bu1|d|ng Minimum Minimum{ Minimum | Maximum Allgwsgble o
g Structure | Fastener Type | Embedment| pfd3® 12 250er| o Cemer) Thosien OPENING il
E N M —A T- El-
Min. 2000 PSI | Tapcon 1/4" w/ " " " " HEIGHT
Nt Concrete 1" OD washer 13/ 2112 4 12 443# o °
%‘2 TONGUE AND GROOVE JOINT, MAXIMUM ON
Southern Pine 3/8" Lag wf M " N u I
g% (G=055) |11/8"0D washer| 112 | 112" 4 127 | 620# CENTER SPACING
§ Sp(réci g?ff" 1 1/38/§ oLt?%vaYVs{her Ta2n 2t 4t | 12t ) As2# ° i FIRST FASTENER 4"to 6" ° ]
> STRUT Detail E ABOVE THE FLOOR
EB (sheet 2 of 3)
Z ¥
1] o o
EEEEE—— NOTE: 2X6 mounted to the wall must be Southern Pine Grade 2 or better.
26 GA MIN. EXTERIOR DDS OR |
g/cs STEEL SKIN WITH G40 MIN. ‘
b HOT DIPPEEA CALVAN/LZED. WHH f 5
EPOXY PRIMER & BAKED-O
b POLYESTER PAINT TOP COAT, - OPENING .
%t( MIN. YIELD: 25 KSI WIDTH
<P
i N s < MODEL NUMBERS RODUCT REVISED
(sheet 2 of 3) gs _?;mplgindg with the Florida
‘ ‘ ; , uilding Code —
MODEL NUMBERS AVAILABLE NOA-No. 20-1104.10
TONGUE AND GROOVE JOINT, , o
_ HT _14 & 2_14 SERIES Expiration Date 02/11/2026_
S g HT 16 & 2_16 SERIES By
< — Miami-Dade Product Control
R E L HT 32 & 2_32 SERIES o c
STRUT Detail
(sheet 2 of 3) ﬁf HT _33 & 2_33 SERIES o \\\§E Sc;/;/ //),
N St #,
% L HT _10 & 2_10SERIES SofeEEsls 7
> 26 GA MIN. INTERIOR CS N Nz
z‘é/STEEL SKIN WITH G40 MIN. ] HT _12&2 12 SERIES S S No.5ITIT 5 =
Z GALVANIZED, BAKED-ON , : = _— .
g POLYESTER PAINT TOP COAT. M ] HT _60 & 2_60 SERIES = ! *® : i =
MIN. YIELD: 35 KSI § - HT 61 & 2_61 SERIES = .,% STATE OF ,.‘ é’&i _5:
- kS e R
N & \‘ ?‘" % R
z TONGUE AND GROOVE JOINT, HT _63 & 2_63 SERIES ”/,f)”“ “%.QTR;‘.Q% @\\Q\}
é & HT _64 & 2_64 SERIES 717, SIGNAL S\
& _ . 4y \
STRUT Detail E /1y \ B
=T Gnest 2 of 3) - HE HT _70 & 2_70 SERIES "t
%t%-\ﬁ FIRE RATED POLYURETHA}IA\lEWFO/?M C@_ i % - HT _71&2 71 SERIES 2R ?z@ Z’QA@? %%%% i’SCGAt\etSH PE@] d. Ste 124-54
INSULATION - RUBITHER P 19669 - s - . ing Arthur Blvd. Ste -
& HT 72 & 2_72 SERIES QG {f"z - Lewisville, Texas 75056
STRUT Detail E (A o / :
/(sheet Ze;f 5 — - - - HT 73 & 2_73 SERIES ‘ Florida P.E. # 51737 ]
HT _74 & 2_74 SERIES IMPACT This Fzroduct hgs been. evaluated for use in
ra 4 a T 808 2 80 SERIES RESISTANT |the High Velocity Hurricane Zone (HVHZ).
H :
RIGID/FLEXIBLE PVC BOTTOM SEAL. - L - = = 182" HT 600, 700, 2000 & 800 STEEL SERIES
. - HT _81 & 2_81 SERIES HVHZ WIND LOAD SECTIONAL DOOR
)i Ul %l HT 82 & 2_82 SERIES DESIGN PRESSURE +45.0/-50.0 PSF A

DRAWING NO.: WL-0600-0218-08-45-50M-D |REV. C

MODEL(S): See Sheet 3 1SHEET: 30F3

7 I 8


RCF045
New 20-1104.10 Stamp


	11805 SW 26 Street, Room 208



